Bihar STET Social Science 2019 Shift 1 Question Paper
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‘ ‘Pedagogy and Other Skilly ( g Nos. 1 to 50
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7 19, 23, 26, 30, 33, ?
A 31 B) 35
© 37 D) 39
In the following question, select the missing number from the given series :
19, 23, 26, 30, 33, ? . \|
a) 31 (B) 35 |
c) 37 (D) 39 \
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P
] will be day after {OMOTTOW
If two days before yesterday was Friday, what day w1 |

(A)  Monday (B)  Sunday t.

(C) Saturday (D) Wednesday H
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A) eI

() EWR
‘A" starts from a certain point and walks 2 km towards north, tums

ain and walks. What is the

(B) ST
D)  ufveH
A man |
towards his right and walks 2 km, turns right ag
direction is he facing now ?

" (A)  South (B)  South-east

(©) North (D)  West
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what §hou1d come next in the following number series ?
8765432 17654321654321
w B) 6
© i None of these
5. S Gireais el 4 g o
@ 54 45
53
) 49 (D)

=

| (A) 54 B *
c) 49 o %
| 6 ﬁaiﬁﬂﬁﬂﬂ:ﬁmﬂraﬂ;ﬂﬁﬁﬂiﬁgi% o
> (B) .
[12 i e
% ultimate goal of educatio? in Jalnlsr[: E: ot -

Non-violence
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India was established in the year

f1966 ree ¢ Byt witoes

1986 . . (D) 1982
mﬁwwwwmfmmmmaﬁn& ?
=t Tt foren a1 (WieiTe)

WWWW qRd GHR

: T e SFEYT SR R qRwg (TTEEARED)
= tinuous and Comprehensive Evaluation in school education was started by
. B4 . 1GNOU (8) CBSE '
- () MHRD, Govt. of India (D) NCERT
%w SRIER FaREe Rd o e e o T 2
| ' 3 1 310, 2010 B 1 Ve, 2019
Sy (D) 1, 2008

1 319, 2009

3 1“ Act was implemented in India w1th effect from
(B) 1st April, 2019

1st April, 2010
Lst April, 2009

(D)  lst April, 2008
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man sells two pipes at Rs. 12 eqch. He gains 20% on one and loses 20% on

.
A the other. In the whole transaction there is
| ® No profit no loss (B) 1% loss
' © 1% profit (D) 8% profit

14

1 @? R 427

@'WWM 3R 3G o1 1 ATHA 2450 ¥ | EAEF ik €

A 48 B) 49
© S (D) 53
The sum of a positive integer and its square is 2450. The positive integer is
(a) 48 (B) 49
(© 5i (D) 53

WWWﬁ15,zom35@ﬁﬁlﬁﬁ%mm%?ﬁaaﬂﬁﬁsam%lﬁﬂ

2N (B) 428

(D) 463

20 or 35, each time the remainder is 8, Then

a number is diVldCd by 159

nallest number is
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16.
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: Dl) Wednesday (B) Thursday

W 10 B 15 e
© 20 D e

80 litres of a mixture contains milk and water in the ratio of 27 : 5. How much
more water is to be added to get a mixture containing milk and water in the

ratioof 3:17?

(A) 10 litres (B) 15 litres

(C) 20 litres (D)  None of these

@mﬁzoﬂaﬁloomﬁéﬂmm%wmxm100‘5Wﬁ |
fepe O @S 2 |
a) 22 B) 25
© 24 D) 26

A man sold 20 apples for Rs. 100 and gained 20%. How many apples did he buy

for Rs. 100 ?
A) 22 B) 25
(Cc) 24 (D) 26

g 1?!?61”3[,.20133313‘&137{ of, A 2 SFEY, 2014 H FAE H HH-T
T ar ?

(@) . FER (B FEEEN

(C) HIEER I IRICELR

If 1st Jan’ua.ry, 2013 was Wednesday, then what day of the week was it on 2nd

January, 2014 ? |‘

(D)  Friday

.......................... s “.“““.““’6“7.;;]

Tuesday
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- 18,

o A & o B €

[@f b - (D) E

A is older than B, but younger than C. D is younger than E but older than A- If L
Cis younger than D, who is the oldest of all ?

a A | B C

© D (D) E

Freffiae TE A B ST S S 1feq ?

n 03 234 2345 23456 23456

@ 2 | B) 7

© 3 D) T Y HE
What should come next in the following number sequence ?
2 23. 034 2345 23456 23456

A 2 B 7
€ 3 (D)  None of these

ﬁ%mmﬁmﬁ@ﬁéﬁlﬁ'wﬁmaﬁ:
SR ;L ¢ : A ;7
(A) HITAER B) @R

© AR (D) T

3 ind the related word from the given alternatives :

ry : November : : Sunday ?

(B) Monday

(D) Saturday




13, 27, 56, 115,. ?

(A) 234 (B) 238

(€ 233 D) 243

In the following question, select the missing number from the given series :

13, 27, 56, 115, ? ‘

(A) 234 (B) 238

C) 233 D) 243 |
01, ATEREE forERERT & SO Ueh et e §

(A)  ShefT-ched gredl B) ¥ 1 HER

() e ol A (D)  FFEe ATETH ufkfefaat s fmm

According to the behaviourist school of psychology, the teacher is

(A) a classroom facilitator

(B) storehouse of knowlgdgc

(®) a leader in the classroom

(D) creator of favourable learning conditions
0o e TR T A At S

@) T el 7§ el g =

B e e @ Feet ot o fae o e

© el fowis wpet | 7erge T d1eT

Scanned by CamScanner



. E
T <
F It" .
=

_ "Hﬁ in the regular school

ﬁ should be given education in a regular school in a lower 8¢ 4 ‘

- (©) should study only in a specia] school
(D). none of these

23, e ¥ wRfeRTE 1 IEA AR ft fifed ¥
(A) T FHS bl SSEEhHATSA wt of o
@) SmHsTR dfa-fRars o Wi e |
() e &l Whe fafdl i vgue e |
(5) 3TEATYA ol o 10 ST SATER USTH HiAT

Psychology's major contribution to education lies in

(A)  to cater to the needs of knowledge society

B) to preserve the social customs

(C) identifying successful methods for teaching

(D) providing scientific foundation for the art of teaching
24. W g fores forg wlew € ?

(&) fe-wplen g | (B) AR FTHYH
© & s o) T Ren

Je

Ex-Post facto research .
. m h ’ . - ; o 'lu
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27.

- 28.

"'Wﬁmﬁmﬁﬁﬁmﬁﬁaﬁﬁémmﬁwimw

25.

g’ € ?
(A) SR (B)  VITaTere
© e D) T A FIE T

In the context of social development which of the following stages is

characterized by 'Intense Self Awareness’ ?

(A)  Childhood (B)  Infancy

(C)  Adolescence (D)  None of these
frg g9 & Wmﬂﬁmﬂmﬁwﬁ%%ﬁ% ?
(A) IS B) H

© = (D) A

Which of the following philosophies claimed that Vasna and Trishna lie at the

root of human suffering ?

(A) Vedanta (B) Jainism
(C) Buddhism (D) Samkhya
fg & | A SRAEES] € 2

() fererdfes B) wH

€ | (D) I
Who among the following is an existentialist thinker ?
(A) Kilpatrick (B) Rousseau
(C) Sartre (D)  Froebel

Wﬁ@ﬁ—mwﬁﬁm*w%wﬁmﬁmqﬁ% ?
7, e, -t #Afe i e
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29.

30.

1A
L5

il g
m Giving definite solutions to the religious problems
©

Preserving knowledge, values, customs etc.

Suggesting Ways and means to social development
(D) Socializing children for performing their future role
St & SO 1 -1 W St & feremraes & faar § e s 2
@) TESHER (B) IEYER
© TS (D) T

Which school of Philosophy in education will plead affinity with Darwinian

theory of evaluation ?

(A) Pragmatism (B) Idealism

(C) Naturalism (D)  None of these

s G § B H G AT % R 6 - 14 T % SIethi ol (e U
Hifeid ATUFR € ?

() FFTDT 45 (B) HIWT 42

(©) BT 21(A) (D)  #IWT 51(B)

Which of the following Articles of the Constitution of India lays down that

education of children aged 6 - 14 years is a Fundamental Right ?

(A} Article 45 (B)  Article 42

Article 214A) (D)  Article 51(B)

&1 33% Ba;.sso/o a—T ELEE % (_'ﬁ A 3:h1 B &l W %

 4:5 B) 5:4




32.

33.

1 33% of A is equal to 55% of B, then the ratio of A and Bis I | |

Ry T ‘

(A) 4:5 - B) 5:4
© 3:5 (D) 5:3

220 HeX et ¢ 54 et /82 @ THR ¥ 2 @ ¢) Fon gyg & 96 @
Fee Y g R S 12 Treiiet /6 it Tid | ¢ i faud T & wor @1 € 2

(A) 6 THS (B) 10 Hhs
) 8YHS (D) 12 ¥he

A 220 metre long train is running at a speed of 54 kilometre per hour. In what
time will it pass a man who is moving in the opposite direction of the train at a

speed of 12 kilometre per hour ?

(A) 6 sec (B) 10 sec
(C) 8secc (D) 12 sec
4.0 T THTOTE & ®Y T o a1 whdl @

A  49% (B)  490%
(C) -~ 0:049% (D)  0-49%
4-9 can be expressed in terms of percentage as

(A) I' 4-9% (B) 490%
(C) 0-049% | D) 0-49%

o fmeh & 1oﬁ=ﬁﬁr{nm%a‘t2maﬁﬁq§aﬁaﬁwﬂ%ﬁ%mﬁ
= & Y 180 = HL A A T A B

20 & ® B 18fAd#
D) IS |
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1 of all those prime numbers which are less than 31 is

© 132 (D) 137

e 35 e 7 A ¢
£t fererera & farera | Heraw g
FET ST I eI HET SR Al FAerwdh gaT Al GUR &g Fed <
1§ el | A

shool Headmaster has the responsibility to

_help the school in its development
1 ?ﬁbsewé the classroom teaching and suggest improvements if required

develop the teaching-learning material |

11 of these : |
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}’Whlch statement is not correct in the context of language teaching ?

o '
- (A) Print riched environment helps in acquiring language
"

re is more emphasis on correctness of spelling

(B) Inlanguage teaching, the

There is a difference between language acquisition and language learni;lg

(D) Teaching of other subjects is helpful in language learning

"mm@ﬁmﬂmwaﬁw%ﬁmﬁammm

1 e Frffener 3 @ feperenr ST €27
ﬁahvﬁ qlequr




Aptitude test

'-f'.ﬁ S

BT o fed AT
- gEEd & ®IH T () TR T R S

h is the least important factor in teaching ?
Aa) Giving homework to children (B) Punishing the students

{@S Teaching as a facilitator (D) Lecturing in impressive way
. 41. %'ﬁ '+ BT FNTIT %, D SOOI e 4 o1 ) %, O - Wﬂﬁm% AT '+ g

5_.‘4’-"%’16-3x6+2=?

(B) 8
D) 9

If ' nds for '+, '+’ for =, = for 'x' and '+' for '+, then e value of the

ing equation




- 33 , @) 42

f Reet gz W § 'BREAKDOWN' F! 'BFSCJMVNC' feral ST & < €

o773 'ORGANISED' %! {6 ¥ TR e ST 2

(A PSHBMCDRH (8) BHSPMCDRH

e

A. © BHSPOCDRH D) T HE T

In a certain code 'BREAKDOWN' is written as 'BFSCJMVNC. How is

'ORGANISED' written in that code ?

(A) PSHBMCDRH (B) BHSPMCDRH

(C) BHSPOCDRH (D) None of these

‘AﬁTBﬂr‘é’%l C,A?'TﬁﬂT%l D,CWW%LE,BW?%H’IDWE'QW

Ty g ?

@ A @a

el

d B are brothers. C is father of A. D is father of C. E is son of B, How is




X
v
B

R.
| D
N
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46.
BULKHEAD' %! ¥ TR ﬂ‘r@m ?

m MVCILEBF (B) KTAILEBF

m-- MTAGJEBF (D) 9 9 HIE T8t

In a certain code COMPUTER is written as 'LNBVQSFU'. How is BULKHEAD'
written in that code ?

(A)  MVCILEBF (B)

KTAILEBF
 MTAGJEBF (D)

None of these

Waﬁﬁr{{ :
2L x5=7
(B) 36
(D) 89
By 5 \
1as ﬁ‘f + and + for — ﬁnd the value of th

¢ following equation :
21’ % 5 D
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(D) 56

-A,D?T'ﬂrs‘%l p, B 1 foefl &1 B 3 C T &, A cCARMEGHY T ?

@& : o

© U p) =

A is brother of D. Dis father of B. Band Care sisters. How is A related to C?

(A) Son (B) Father

(&) Grandson (D) Uncle

50. ﬁ%ﬁumﬁwﬁﬁﬁ@ﬁﬁmwaﬁmaﬁ:

ﬂi‘ Y= @Fﬁﬂ ?
om ¥ @ T
© f= o) T

from the given alwnatives :

ind the related word




¥ 1

adult education i =;n';‘

primary education

AreTs Td 39 ST Eit 5 @@=l
qgTeRuT el

. of Nirmal Gram Yojana is

1 Sanitary cleailﬁness

: g ) .- cleanliness of ponds and other water bodies
provision of clean drinking water

environmental cleanliness
| @ 3R § fqoteT I @

Revolution' is related to

Oilseed production

fish production

e et e TV
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fiy el T e ST ©)  fiaré e
The minimum support price for foodgféins is recommended by

| - the Planning Commission

ks ' B) the Ministry of Agriculture

© Commission on Agricultur;l_ Cost and Pricing
(D) the Irrigation Ministry |

- T TR T B E

* (&) TS Y E G SHee H

@ e sk e

| 1 © e grr st e ford S W I

o wwEw

~
oy

 The goal of the public distribution system is to

provide food security to the poor
check hoarding and black marketing
prevent traders from charging high prices

.aIl of these.



ywm the National Fooq Security Act come into force ?

2009 | - (B) 2010 R
. 2011 ‘ .(D] 2013
5. SIRA I g 3 3 waiferss Avew frw B w1 E 2
g? - e & B) facrae &
F@‘ el & ) T @ HiE T
_ ﬁah B e the highest contribution to the national income in ndia ?
w.- Primary sector ~ (B) Secondary sector |
B Tertiary sector ' (D)  None of these
B O G— R T R
' el AT B) T
1 Tey fager (D) T ¥ IS Tl

':..;_:::s.w cept of 'Vicious Circle of Poverty' is related to

T

Karl Marx (B) Nurkse
A ' (D)  None of them
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Who is the Goverﬁor accountable to ?

| ."W The Prime Minister | (B) The President

[ 3 | (C) The Vidhan Sabha D) The Chief Minister

68 o s S & e o e ot 3§ A W E 2
| ® o5 T TS ST ¥ B T UF TR SRR €

=0 T T fafys AUHR & (D) %@wﬁmaﬁmﬁ%

" Which of the following statements is correct about the Right to Information

It is a political right (B) Itis a constitutional right
- ©) Ttisa legal right (D) | It is a social right

m.aﬁmﬁamwaRmﬁaﬁmaﬁw?f?

in a year the Parliament St P ©

& W e i "




st i ¥ 2 e g e #
gaTe 81 o v g

g to our constitution, the tenure of the Rajya Sabha

) Ii ends every two years (B)  ends every five years
{€) ends every six years (D)  is not subject to end
| iR I SR T He Y HRIER! 1 HErer S °
| weE I vy et |
| T FY W T HFE H, aavﬂaﬂ%iﬁaa%wma’r
. Sal 9561 & TE YHIV U I deh A 6 oF e €
duty of the Pro-tem Speaker is
to conduct the proceedings of the House in the absence of the Speaker
mawéar in the members

. ka as substitute of the speaker when the election for the Speaker i

:: the election certificates of the members if they are ‘301‘!'!9!:%.




_ '*Wﬂswaaaaasmwaﬁsa;mwm%e
"- |13_a"§. _, ) B) 2139
© 25° D) o A FE T

“ What is the minimum age limit to be elected in the Lok Sabha ?

..l (A) 18 years I (B) 21 years

(C) 25 years (D)  None of these.

HWQTWWWW#W% ?

e () TEE B) e
3‘} ) I (D) SU-TgAld

t Who is the head of the National Security Council ?
(B) The Prime Minister

EJ A) The Home Minister

(E) The President (D)  The Vice-President

%‘qﬁrﬁmﬁ‘ﬁ% _
EC] ‘ (B) el
' 0 TR

(B) Earth

(D) Pluto



: Mﬁas rings around it ?

_ﬁ‘é‘aﬁhw%ﬂ IR % | Ford el WA i1 S § 2
i i (B)  Ulehe
SRy (D) ST

of the following countries forms the longest terrestrial border with India ?

| China | (B)  Pakistan
‘ m Bangladesh (D)  Nepal
uRq R v w
G Hed 991 <9 8 (B) O3 §aY &SI I &

it w1 391 8 D) TR

(B)  the sixth largest country

(D) none of these
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(@ FER R (D) &R WK

‘Which of the following is a part of Aksai Chin ?

-é' - (A)  The Karakoram Range (B)  The Shivalik Range

- (C) The Kashmir Valley (D)  The Ladakh Plateau
. 8 AR TRE w7
| @ grfehe= (B) HRd

(@ o= (D)
i Where is 'Mount Everest' ?
| (A) Pakistan (B) India
(C) Tibet (D)  Nepal

79. frferfiad o< § @ AR ele oie S ol T € 2
@ Sfwen @) ool o
© e (D) T

i Which of the following passes leads to Leh ? A

e 1|

W Zzojila ®)
© D)



81.

82.

©
ol % S S S, 1956 o e s A s @ g

A)
(B)
)

(D)

Which right is not provided in the Consumer Protection Act, 1986 of India ?

(A)

~ (B)

(€

(D)

(B) the Arabian Sea

the Mediterranean Sea (D)  the China Sea

H$ gt B AT IR Y 3 Fory Furmer Tt T
3T fere

Wl el S WA G Taqor it Sfre e i & forw e A
FHIST o HHAR T % o1 et i daadt ot adl 7 @

Competitive prices for various types of goods and services
Consumer education
Protection from such goods and services that endanger life and property

Discount in the rates of goods and services for the weaker sections of

society

ST 2011 F 3ifaq sieEl Wi Gaitds S-de Je 9R IE F dE

3eRET FH &

(A)
(B)
(C)

(D)

According to the final data of the Census of 2011, the correct descending order

of the four states with the highest population is

A)

Uttar Pradesh, Maharashtra, Bihar, West Bengal
Uttar Pradesh, Bihar, Maharashtra, West Bengal

Uttar Pradesh, West Bengal, Maharashtra, Bihar

Uttar Pradesh, Maharashtra, West Bengal, Bihar -

------------------------------------------
-




84.

85.

B)  seR &Y, s F=rw
D) 3R dHE, IR R

Which of the following mottos was used for the 2011 Census of India ?

(A) Our future, Our country (B) Our country, Our census
(C) People of India-Our census (D)  Our census, Our future
et o @ e et T Q@ I w1 g 9 € 2

(A) HeH (B) =9

€  wied (D) e

Which among the following has chosen the gross national happiness as the

indicator of progress ?

(A) Bhutan (B) Japan
(C) Sweden (D) Switzerland
fadt SRISTIRY & e &

(A) SRR =feal 9

B) el o sRI=TR @ |

© 60da¥ & i 0y At el § S A

(D) Ferelt o T, Forrent o Al o gehd €, ST AThAl ot o &

Hidden Unemployment refers to
(A) the unemployed people
(B) unemployment among housewives

(C) unemployment among persons above 60 years of age

(D)  more people e

e s e =




87.

88.

89.

© 63a (D)

64 3

By which constitutional amendment act was the voters' age reduced from 21°to

18 ?
(A) 61 st (B)
(C) 63rd (D)

T AR 5| & 79 o7 2

(&) 15 SR I (B)
(C) 15 ®E’ & (D)
National Voters' Day is observed on

(A)  15th January (B)

(C)  15th February (D)

62 nd

64 th

25 STHeR i
25 TE]

25th January

25th February

WRA H 7 2H F1 FAUER efated § @ w9 @ d

A)  Hifes sfaer (B)

(C) WiFHASh AR (D)

HauTHe a1fyer
AU 3Ty

Which of the following is the right to vote in India ?

(A)  Fundamental right (B)

(©)  Natural right (D)

Constitutional right

Legal right

fﬁﬂa@z%mwéﬂ%m@aﬂwaﬁmaﬁwm

22 ‘

-~ ;-:_-; W 352 (B)

(D)

BT 370
T 395
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91.

Und 'm.miﬂq«cﬁnthcmddmfmdecmaNa : g e

(A)  Article 352 B)  Article 370

(C)  Article 371 (D) Article 395 g
T Ioe ~TATer I AT G AT Haifey s &

(a)  rgafer bl

(B) W%g@maﬁ
C) 3ITF TG & 3= AT & &7 rnfer &t
(D) U & TOGUTA &l

A Judge of a High Court addresses his resignation to

(A) the President
(B) the Chief Justice of India

(C) the Chief Justice of the High Court of his state

(D) the Governor of the state

el | Y& fordn T o

(A)  FTHE HFF F FHEA & (B) I FHIA Al &q
(€ ol TR & oy 1 (D) fgen®d A=A & F797 &

The Dandi March was started to

(A) support the salt law

(B) violate the salt law

(C) protest agaihst the Rowlatt Act

(D)  support Khilafat Movement

gy wd eio |9 @t e foea @y of ?
(A) Tt Ty (B) GTOWW

AR TH

.......
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94.

93.

()  Dr. Bhim Rao Ambedicar

(c) Narayana Guru (D)  Vivekananda | '1
SferdiaTeT ST FeAThiS g |
(A) 5TE 1918 (B) 13T 1919

© 13 3 1919 (D) 29 3 1919

The Jalianwala Bag massacre took place on

(A)  Sth May, 1918 (B)  1st April, 1919

(C)  13th April, 1919 (D)  29th April, 1919

frfeifaa = @ fohem et & Gt & ey o dyror F weredr M I s fwE
qr ?

(A) . o, ?qc_'l'l'rﬁ (B) U< UOTR

(C)  TTSTHHR I[eked (D) @l HS\ﬂH'q.

Who among the following had invited Mahatma Gandhi to Champaran about

the indigo cultivation ? |

(A) J. B. Kripalani (B) Rajendra Prasad

(C) Rajkumar Shukla (D) Swami Sahajananda
T T T o e T A ?

(A) 1761 (B) 1757

(© 1760 (D) 1767

The Battle of Plassey was fought in the year

(A) 1761 (B) 1757

...............................................
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97.

08.

99.

wﬁwﬂiﬁﬂﬂﬂ?mﬁ%ﬂﬂﬂ%mmﬂzﬁ 5

o“.l_C); AT FAS

(] S TR (B) g ot

(C) oS et D) e HEATTH

In the tenure of which British Governor was the first railway track 1aid in
India ?

(A) Lord Dalhousie (B) Lord Curzon

(C) Lord Wellesley (D) Lord Cornwallis

‘g g’ i foRed forar g 2
(A) AR S | (B) Uﬂuﬁﬁﬁ'fﬁ?ﬁ

(€ s g (D) iferrreE =2

Who composed the song 'Vande Mataram'?

(A) Rabindra Nath Tagore (B) Ramdhari Singh 'Dinkar

(C) Sarojini Naidu (D) Bankim Chandra Chatterjee

g2 T & Rae § fora qx fors s fqr w2
(A)  dlferRrsi s e (B 3% foem w

()  wrHEeE R W (D) dEEn! R w

The Hunter Commission Report paid special attention to

(A) girls' education (B) higher education
(C) elementary education (D) technical edycation
g FLEd! 5T e @

(A)  w& GHE
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() Brahmo Sams, (B)  Arya Samaj
(C) Prarthana Samaj (D) Bahujan Slamaj‘
100. et & ¥ F ‘W F A PR Fgemr & 0
() T g B) I TSR T
(€ T faeerg (D) & sgwe
Who among the following is calleq ‘Martin Luther of India' ?
(A)  Swami Dayanand Saraswat; (B)  Raja Rammohan Roy
(C) Swami Vivekananda (D) Swami Shraddhanang

101. WWW&WWWWW&W%?
(A) AT B) g

(C) T A= (D) U9 A dAT HEG

In Indian polity, the Executive functions under

(A) the Judiciary (B) the Legislature
(C) the Election Commission (D) Union Public Service Commission
102. fafEd 9 | Igufa feas g w7
(A) YR F FerEEaRE] (B) 75 Ue Hererdn wieth
(C) =T T TFUTA (D) T & @il

Who among the following is appointed by the President ?
(A)  The Attorney General of India
(B) Comptroller and Auditor General

The Governor of a State

. All of these



104.

106.

(D) 1= Faes = T F T F S gy 3 g i war $

After which event a Bill presented in the Pgy liament becomes an Act ?

(A)  When it is passed by both the Houses of the parliament
(B) When the President gives his consent tg it

(C) When the Prime Minister puts his Signature on it

(D)  When the Supreme Court declares it to be under the jurisdiction of the

Union Parliament
ARG Gfqum 1§ e difers wdeT & 2
(A) 9 (B) 11
(€) 12 (D) 20

How many Fundamental Duties are there in the Constitution of India ?

A) 9 B 11
€ 12 (D) 21

YR TSI Ugid & a) 7 91 9§ § %7 98l 96l € ?

(A) gAY Ty B HHEHE Ugid #Y §R
(C) geig Hifd D) LI Tgid # GER

Which of the following is not correct about the Indian political system ?
(A)  Secular state
(B)  Parliamentary form of government

(C)  Federal policy

. r‘m Presidential form of government




© I G ol et 1 e §

(D) . TR Ty & i FRYe T §

Democracy of India is based on the fact that

(A)  the constitution is written

(B) fundamental rights have been granted here

(C) the people have the right to elect governments and change it

(D)  here there is the Directive Principles of State Policy

107. TAfdfEd 5 € 19 9T i udfrier TR aftrg s € 2
@A) T 3fusr (B)  Gfge &l WA
(€ 93 g D) T & AT v a=
Which of the following describes India as a secular republic ?
(A) Fundamental Rights
(B) The Preamble of the Constitution
(C)  9th (Ninth) Schedule

(D)  Directive Principles of State Policy

108. WRAg eI sgaey § =1 & @ ®IF Taifed & 2
(A) . gared e (B)  EferygH
(€) HER (D) HH
Which among the following is the supreme in Indian political system ?
(A)  The Supreme Court (B)  The Constitution

(C) The Parliament (D)  Religion

- SN B



110.

111.

112,

When mm Constitution of India come jn,, tiror™

(A} 26th January, 1950 B)  23rd January, 1950

(C)  15th August, 1947 D) 26th December, 1949
WRe Wiy w9 & urew wfafr & sy o

(A)  Tlo TN YEE B) R Tow

() . R, JEg D) st 22

The Chairman of the Drafting Committee of {}e Constituent Assembly of India
was 2

(A) Dr. Rajendra Prasad (B) Jawaharlal Nehru

(C) B. R. Ambedkar (D)  Purusottamdas tandon
R BIS! Sgler &1 Iged feham o7

(A) St HR. R A (B) TERIAA FE

(C)  TeTe Tindt (D) e Wi wre

The Quit India Movement was led by

(A) B. R. Ambedkar (B)  Jawaharlal Nehru
(C)  Mahatma Gandhi (D)  Vallabhbhai Patel
W R & Sl T S B o )

(&)  E TSTEERT (B) 1. ®l HUETH

(C)  Tiie= Feery da (D) s 3. 3Tige

- Who was the last Governor General of independent India ?

- (A C. Rajagopalachar; (B) J.B.Kripalani

Gobind Ballabh Pant (D) B.R. Ambedkar

; W ..................................... .,.....,___“__._g
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'm& Wins Freedom' is the autobiography of

(A) Dr. Rajendra Prasad (B) Jawaharlal Nehru
(C) Maulana Abul Kalam Azad (D)  Mahatma Gandhi

114, R BRI AUAE TS Gore-U-shet’ oy 3RO Fifen o | FFe ™ s ot 2
@A) TSI I[RCAT (B)  wufiTeh WeAwTer

(C) IRRARI Fiplas g (D) T g g
Akbar's idea of 'Sulah-e-kul' was based on which of the following ?

(A)  Political Liberalism (B)  Religious tolerance

(C) Liberal cﬁltura.l point of view (D) Al of these.

115. b A i TR fmar am o
(A)  STCTER Fdl gRT (B) I Gal gRI
(C) TI&H ERT D) TEEH gNI

The Bhakti Movement was started by

- (A) the Alawar saints (B)  the Sufi saints
() Surdas D Rasklian
116, ¥ wemy o werr A 695 € 2
) oo B ¥
A D)  Jw

- Which order does Chaitanya Mahaprabhu belong to ? ‘
Vaishnava
K~ e

(B)  Shaiva

T, PR o Lo



Dﬁimltaﬂ is said to have adoPted the "blood and iron” pelicy ?
, (&)  Dtutmish | (B)  Balban
- © Jalaluddih Firoz Khilji (D)  Firoz Shah Tughlaq
118, W T 96 S AT 2 |
h A) SR (B} | et el

(C) PN (D) RAIR
Who was the first Mughal ruler ?
() Babur (B)  Ibrahim lodi
(€) .Akbar (D)  Jahangir
119, TERIETH 1 oi@eh i T § HA & 2
(A) AT p e
. © FHIARTE D)

Who among the following is the author of Mudrarakshas ?

(A) Ashvaghosha (B)  Vishakhadatta
: () Kalidasa (D) Bhasa
L spever 3R g % s o vl H e € 2

il B F9e

L S (o) T H

 is the style in which the temples of Bhubaneswar and pun ar€ made
! (B) Dravid

None of these




-

B) WYy
(D) ¥y
Who was the first Jain Tirthankarg ?
(A)  Mahavira (B)  Rishabhadeva
(C) Parshvanath (D)  Chandraprabhu
122. HER WIHI T S Fal g7 41 2
)  Fsum B)  far
(€  HigeTeRg (D) el
Where was Mahavir Swami born ?
(A)  Kundagram (B)  Lumbini
(C) Kapilvastu (D)  Vaishali
123. HRIHI 5 A 3791 WY ‘UHEsh Yoo fohd I W AT o 2
) e (B) R
(€ ey (D) =T
 Silare did Toed Bt deliver i Brst dhsrmcheies pravartan' ?
(A)  Lumbini (B)  Sarnath
(C) Pataliputra (D)  Vaishali
124. ‘Bifes’ s € 2
(A) TEER & I w1 4Ue B)  sT&m, fasy, e
© TETER & i T (D) T & IuRel 1 W

~ What is 'Tripitaka’ ?

the collection of Mahavira's preachings
hm A Vi.hnu' Mahcsha
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e fr e ¢ Frf e R 2

@ g )
© s ; D) et
Where did Gautam Buddha attain Nirvana ?
(A)  Kushinagar (B)  Sarnath
(C)  Shravasti D) Lumbini
126. o9 &R shifq foh| o amumiia o 2
() TS EE R (B) o st W
(C) % Tl W (D) 3 dF |
The first green revolution was based on
(A) chemical fertilizers (B)  improved seeds
(C) new techniques (D)  all of these

127. UTHI] G el H IS G F9 € 2

(A)  HRAE @2 (B WRdAE R e

() e (D) I WEHHY ik

Which is the apex body in the rural credit system ?

(A)  State Bank of India (B)  Reserve Bank of India

(C) NABARD (D)  Central Cooperative Bank
128, Ffeafiad % & H € v o S o g W6 2

(A) Tad (g [

(©) e A () I T A

Which of the following is not a problem of small scale industries ?

(A)  Finance B) Marketing

Raw materials )  Strikes end lockEle

.
................
,,,,,




130.

131.

132.

| ! .
‘ae the economy develops, ,
: M@ i P the Share of the tertiary sector in the GDP

A decreases
(B) first decreases, then increages

(C) increases

(D) remains constant |

st Y@ Fehtem & oI S wde 398 o T8 o S & 2
a) Wi =afe fed o (B) WA o heARl
(C) TdHo Ho 3Ro D) —

Which method is not employed to find the poverty line ?

(A) per capita average income (B) calories in food
(C) H.C.R. (D) literacy
9RE % TG 59 & TafeeE ®2' & AW Y S | g 2

(A) T (B) 3T S

() FARH (D) XA

Which of the following states of India is known as the 'Silicon State' ?

(B)  Andhra Pradesh

(A) Goa
(C) Karnataka (D)  Kerala
SR A&l Frsad F fepg = @ ST S € 2
( qar (B)  hHET
(D) w
s ——————————— s

8T-17(1)



134.

135.

136.

- (©)

(C) HEWX D) oA

Which state of India is the ﬁrst to receive MOHEGHH D

(B)  west Bengal

(A) Assam

(C)  Maharashtra (D)  Kerala |

RS Fafred @

(A) 3@ T H B g oA A
Aeyrerg T § o) fosire 99 H

Cherra Puniji is situated in the state of

(A) Assam (B) Manipur

(C) Meghalaya (D)  Mizoram

g et forgge oo b T A R € 2
(a)  feEEe WY B) ITES
©) ~ HEUTEE We¥ ) fafees

In which state is the Tista Hydroelecfric Project located ?

(A) Himachal Pradesh (B) Uttarakhand

(C)  Arunachal Pradesh (D) Sikkim

g e fa “ |
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137.

138.

139,

140,

i

(B) Manganese

m . &C}old - (D)  Uranium
e & TR T | IR TSHRT ) e Wi ¥ 9
@) SR B) @R

€ W (D)  HERTZ

Which state of India has the longest state highways ?

(A)  Uttar Pradesh (B) Bihar
(C) Madhya Pradesh D) Maharashtra
AR AR SR Iy Fel & 2
(A) Cfem (B) T
(C) Ul (D) IR
Where is Jayaprakash Narayan International Airport ?
(A) Bihta (B) Gaya
(C) Patna (D)  Varanasi
TR U [ S A ?
&) WH (B)  THEHA
(C) HRd (D) e
Gwadar Port is in
() Iran (B)  Pakistan
(C) India D] S Las=g
Sy 1 3 ) o’ TE D
e B) 9

‘ o &AfReRT | () e i
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T
country is calied ‘Thie Land of White Eleppqng 5

B)  Thailand
| (C)  South Africa . D) South Korea
141 qree s 3 e SR B e & g gy e 3
a) 4 - B) ¥
€ T« D) I

The reign of which dynasty in ancient India is called the 'golden age' ?
(A) Maurya (B) Shunga v

(C) Gupta (D)  Chola

142, W GiEd 9§ feRae eyl A §
(A) A (B)  TiEH

(C) AT (D) @mE

Who has a significant contribution to the ancient Sankhya philosophy ?

(A)  Kapil (B) Gautam

(C) Nagarjuna (D) Charvaka
143, WA & U Hew Taes HUT TR S A 2

(A) T B IAH

© & (D) T

Who began the great 'Silk Route’ for Indians ?

(A)  Kanishka B  Ashoka
{ (C) Harsha | (D) Fa-Hien
144, ﬁﬂfﬁ@ﬁ?m@imﬁméﬁwﬁgﬁﬁﬁﬂaﬁm ?
B X
(D) Sl

]




(A)  Afghanistan

(C)  Srilanka (D)  Kalinga

145, RIS Y G HAH 1L 2
(&) e ®) feferT ug war
(© e fearsse D) U s 2 e

What is the name of the book by Megasthenes ?

(A)  Indica (B)  Living an Era

(©)  India Divided (D) A Passage to India
146. 391 Jd B3I T | fove &1 UH i e wel Al 2

(A) T (B) TR

(c) deme - (D) @

Where was the first democratic system of the world in the sixth century B.C. ?

(A) Athens (B)  Pataliputra

(C) Vaishali (D)  Sparta

147. g 39T % folu g § TR OIS B A g € 2

(B)  dwUI

A) T
D) WA

©

The cpi.thct ‘Purandar’ is used for which god in Rig Veda ?

(A) Indra (B) Varuna
(D) Soma

J A AR ?

(B) ﬂ)l?{:ﬁﬁ@

(€) Agni
148, Pt @ frt et vy 2T T

Al B
N
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" Which of the following is known &5 the Mount of the Deads' ?

(A) Harappa (B) Mohenjodaro

(C) Kalibangan | (D) Rakhigarhi |
40, ESWI FAT el ol e @

@) TR B) e A

)  TeTH H D) faaH

Lothal, a site of the Harappan civilisation, is in

(A) Gujarat (B) Punjab

(C) Rajasthan (D) Sindh

150. fiHeErZe &I ET el oA & 2

(A)  STIA B) UEHE
e D) TFEA
Where are the caves of Bhimbetka located ?

(A)  Bhopal (B) pPanchmarhi
(C) Singrauli (D) Raisen

_‘-.'.i&.'
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